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[ s 6-10 7.7-8.6 8.2 I
FHEFE (me) 100 <30 - 52 38 =
BEEE Y E  (mg/) 10 37-73 6.1 2
MY 48 (mg/l) 2,000 34 - 1239 627 =
WAL 4E & (mg/) 10 <0.5 <0.5 =
FEEE (mg)) 0.1 <0.04 - 0.042 0.041 =
BTGB E (mg/) 100 <15-37 22 s
HHE  (mg/) 20 <10 <10 =
&g  (mg/l) 0.5 <0.3 <0.3 =
ek A E (mel) 1 <0.6 <0.6 =
FHVE MR (mg/) 15 <7 <7 s
(EEFAE (me/) 2,000 100 — 227 146 ik
A% R (mg/) 200 23-75 46 2
M (0) 43 28 - 32 29 s
TV E (mg)) # _ _ ) ]
EEEE

i (mg/) 2 <0.4 <0.4 yass
#H (mg/l) 5 <1 <1 2
5% (mg/l) 0.1 <0.1 <0.1 y
#% (mg/l) 1 <0.3 <0.3 =
#i  (mg/) 2 <0.5 <0.5 y o
#r (mg/l) 2 <1 <1 2
§#  (mg/) 5 <0.2 <0.2 =
7K (mg/l) 0.05 <0.05 <0.05 =
#2 (mg/) 2 <1 <1 P
R (mg/) 2 <0.4 <0.4 =
¥ (mg/) 5 <1 <1 o
#r (mg/) 2 <1 <1 s
HEEBAEEH (mg) 10 <7.0 <7.0 yocs
Bl (mg/l) 5 <1-1.3 1.2 =
#  (mg/l) 10 <2 <2 y
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Aldrin (mg/l) 0.01 <0.01 <0.01 s
BHCS (mg/l) 0.01 <0.01 <0.01 yass
AR LN (mgl) 0.01 <0.01 <0.01 s
FEEHEY
AEE (mel) 0.1 <0.06 <0.06 s
EEHiLEeEyw
1,1,1-= & 2 J5E (mg/) 0.05 <0.025 <0.025 =
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ok (kg/0.5h) 0.58 0.00 — 0.04 0.01 e
& bW (kg/0.5h) 3.86 0.00 - 0.83 0.04 =
B L (keg/0.5h) 1.16 0.00 —0.20 0.03 =
#ILE  (kg/0.5h) 0.08 0.00 - 0.00 0.00 =
ALY

(ML= &= 1B & &t &) 7.71 0.90-3.49 1.72 =
(kg/0.5h)

48 5 HE IR (kg/0.5h) 0.39 0.00 - 0.06 0.00 e
— & L 6% (kg/0.5h) 1.93 0.00 - 0.94 0.08 =
() HigE ©

AL (kg/day) 9.25 0.11-0.27 0.20 s
“ &AL (kg/day) 46.27 0.63 — 3.86 2.18 =
i (ke/day) 9.25 0.11 -2.07 1.40 s
#ALE (ke/day) 0.93 0.00 — 0.00 0.00 ys
ALY

(M = &1L & 5 &) 185.06 69.92 — 95.65 80.95 =
(kg/day)

daF R (kg/day) 9.25 0.00-0.19 0.06 =
— &AL (kg/day) 46.27 1.89-7.24 4.23 =
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(HEme %) ® /&)

=T AL A

Zé%%%g%f%) (ke/h) 093 . =
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(MHEbLE & EFHE) 0.73 <0.003 s
(kg/h)

B% 1& (DLBR B% 51 5 (ke/h) 1.45 <0.028 s
AR CIBEETR) (ke/h) 0.21 < 0.006 ys
R RORALE (kg/h) 0.19 <0.003 e
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(ke/h) 0.0019 < 0.0003 yss
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il (kg/h) 0.0023 < 0.0001 A
FHeBGE_BNEE _
(ke/h) 0.019 < 0.0020 e
7 (kg/h) 0.0019 <0.0001 2
T EFE (ng/h) 2,891 13 yss
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EEEBE
#% (ppm) 0.5 <0.5 <0.5 =
7K (ppm) 0.1 <0.02 <0.02 s
A8 E  (ppm) 10 <0.5 <0.5 s
#i  (ppm) <0.5-3.6 0.90
$8 (ppm) <0.5 <0.5
#5  (ppm) <1.0 <1.0
# (ppm) <0.5 <0.5
G IS I = < .
W (ppm) 25 <25-56 2.9 s
# (ppm) 20 <1 <1 =
W% (ppm) 10 <5 <5 =
RAAEE (ppm) 10 <2-23 2.0 &
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2 (ppm) 5,000 <15 <15 s
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(ppm) 10 <5 <5 &
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% & (ppm) 1 <1 <1 v
TCDD (ITEF %) . < <1 =
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